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1 8-B |#& FEF BRERT7HE x CP 347 25 10
2 14-C |:af BX IFNR7 = 5 CP 334 14 3
3 12-B |FIR BT IFNR7 = 5 RC 330 13 5
4 11-C |#E & IFNR7 = 5 CP 330 6 0
5 7-C |FIER Ez IFNR7H= 5 RC 327 13 5
6 9-A [/ &) BAIRKFRHGHF 5 RC 326 13 7
7 9-B |tREH flk IFNR7 = 5 RC 321 14 4
8 13-A | &Il H#ET IFNETHE x RC 317 13 6
9 2-A |B®R RH IFRNETHE 5 RC 317 9 3
10 3-B |RIER HXK IFNR7 = 5 RC 315 9 3
1 6-B |fE&K & “EHER z RC 312 5 1
12 | 14-A [REX H IFRNETHE x RC 311 4 2
13 8-A |FR X&HE BATIEXRZEISHF x RC 308 7 2
14 5-A | KR# #BRER IFNR7 = 5 RC 308 6 3
15 | 13-B [ETH 7 IFNR7 = 5 RC 307 7 3
16 6-A | ARH EKF IFNETHE x RC 303 8 5
17 -A |NE EHE BATIEXRFEIGSHF x RC 301 6 2
18 | 15-C |X# R IFNR7 = 5 RC 300 4 2
19 1-A [Fig Bt IFNR7 = 5 RC 296 6 2
20 1-C - IFNR7 = 5 RC 295 7 1
21 2-C |JIIFt kifB IFNR7 = 5 RC 293 8 3
22 | 13-C |&F mi— IFNR7 = 5 RC 291 5 0
23 | 10-A |1hE £ BAIRKFRHGHF 5 RC 290 5 7
24 | 12-C |R® X IFNR7 = 5 RC 289 3 2
25 4-B |tk Rk IFNR7 = 5 RC 288 7 3
26 | 15-C | && WMFETHT7HE 5 RC 288 3 0
27 5-C |## Inkk IFRNETHE x RC 287 4 1
28 7B |[&E BRX IFNETHE x RC 281 3 1
29 2-B |k FE IFNR7 = 5 RC 279 2 1
30 | 14-A |/DEE %5k IFNR7 = 5 RC 278 4 2
31 11-B [hA & IFNETHE x RC 276 4 2
32 1-B [R#¥ HER IFNR7 = 5 RC 275 2 2
33 | 10-B |kAx (& IFNETHE x RC 274 6 1
34 | 11-A |H[R B&X IFNR7 = 5 RC 274 2 1
35 5-B |l BHT IFNR7 = 5 RC 27 0 0
36 4-C |EE #f IFNR7 = 5 RC 263 3 2
37 8-C |XfF HEx IFNETHE x RC 261 2 1
38 4-A |TH H— FRERXTH 5 RC 250 5 0
39 | 10-C |EE FE IFNETHE x RC 245 4 1
40 | 12-A [H]R = INEINEAR 5 RC 238 4 0
41 9-C |R RiA 5 RC 221 1 1
42 3-C |E&E E IFNR7 = 5 RC 186 0 0




